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I Urqprubptrhp 1150,0

4261
9.phhru\ruh qf mnrlpbhp h

qpuuhtryru\ur;]rtr trlnrphp, npf g 300,0

30197631 llnqp A 4 L.lu hurur 2000 15 30,0

30197232 Upuqru\urp qnft dhpu4 ftL pu4uhp Lfu huur 500 20 10,0

22851 1 00 Upuqutlup L.lu hum 100 30 3,0

39263200 $pruuhLl ur\ u.r1 hU qhnp Lru huLn 1000 2 2,0

30197221 Uripur\ LIU hurr,n 150 10 1q

24910000 Unuf& L.lu hrum 300 5 1E

37822000 qphr Lfu hurLn 100 20 /l
-t'

2245t200 U {up Lnur LlurL Ll\u1 ur\rutrL hp t_fu hum 2008 60 I20,5

3020001 Prupppf2lhpfr hnnqnll Lfu hurLn 2000 I 2,0

3020000 Pupppfgbhplr $gput{npnrd L.fu hri-rur 3000 5 15,0

37321170 anmru\u-r1 uu hum 7500 1500 IT2,5

4267 \hbgu4u1|ttr hlntphp, npfg
500,0

33761000 9nrqupruhf pnqp t_tu hruLn t20 550 66,C

3983t241 lhnpfr odurn Ltu hium 150 50

39831240 ffur[u2ur l_fu hum 350 20 7,C

39831240 9nrqiupruLlr diuppn4 d!2ng Lru hu-rm 1000 10 10,c

39525800 (uLnu!fr 2L2ng L.fu hurr-n 1200 20 24,C

39525800 Uh4urtrfr 9h9ng tlu hum 250 20 5,C

39525800 UqurUh inprughn4 uppfri uu huur 450 40 18,C

39812100 L.lruumf\ru t_fu hutn 600 T9 [,4
39224100 Urlhl uhLltu!fr Ll-u nuu 1200 4 4,8

39831242 rqugph rhnzh tfu hr.um 400 15 6,C

39813000 Uuiu\h Lltupphlnr hh4nrll L.lu hum 400 10 4,C

2445t141 Ur1 ntuhtul-rnr1 hhrlnr\ /du r{h1 51 Lfu hurn 600 T2 7,2

244511 UlunruhluLfr1 hh4 nr\ L.fu huLn 600 10 6,C

331411 ULhbnnof\ uu huru 350 40 14,c

39224 Q-nqup[rul1 hnhun u{h1nLl L.lu hrurn 2500 Aa 10,c

3953 Llnrurpfr 4nulL ]unquLu\n{ qnpq L.fu huur 3000 3 qa



39224337 rFnr11 
51 L-ru hurur 800 5 4,0

(uuuulfr rlrurlLn Lru hun 2000 5 10,c

4213000C Apf fu\url Ltu huur r500 4 6,C

4213000C Apf fulutr uu hum 4000 B,C

4450000c AurLru$Lhpf hru {u-rpurbnr Lru hruLn 4000 I 4,0
4452112C rtrnuL ilfrpnrll Ll'u hum 2600 2 5,2

3121118C Urlnnrftun uh2ururfrl t-fu hurn 1500 12 lB,0
3121r22C h1 ur{tnndurm L.fu hurur 1500 10 15,0

44411110 D'npu11 uu hurLn 3500 AT L4,0

3152t430 Lh41nr;uhp tipUufr LIU hurm 1000 20 20,0
31521500 hLhpqnfuLu;nrl lh4 1nr.1ubp 7 gn\n1n{ tru hurur 1300 20 26,0
3150000 Ludq uu hrum 150 60 9,0

31521500 Luilq L.|OLI SV 10W Lfu huln 1100 5 5,5

3152150C Lurdq lnnuru4lrn4 460 piulp uu hruur 750 T6 L2,0
45330000 Aph funqnqu\ Y2 LJ"U rlhLnp 50c 20 10,0

45330000 Ap[ funr1ni{rul1 60ud Lfu dhurp TTOC 2 3,4
44521I1C rfuulruL ub 16 uu huur 150C Aa 6,0

445211110 {tu\ruh h{pn L.fu hruur 250C z 5,0

44411742 9nrqurpurbru\nhpfr 4hmurfrhp t-ru huu 10000 t 10,0

44511330 'rlurtnnr!uhurt L1h\rnput1urh L.fu hurn 32000 I 32,0
30237111 t-l'urprn!ng t_ru huLn 4000 2 B,C

24910000 Unu[b&'"hrulr.nh Lfu huur 1000 4 4,C

0913420C 'lfq {unhifp t-ru I 550 100 55,C

qpuuhtlu\rulhb qnUp 170,0

39111180

39ITII4O

$puruhhlur\u.1lrtr upn/qmur{nr1/ Lfu hum 45500 91,0

fln;iuflr upnn dhlLnh4urhf uu hr.uut 27500 I 55,0
37311580 Sullpnrpfrtr LJ'U hum 7000 I /'U
37311580 dunu\ruu Lfu huu 6400 1 6,4
37311580 tinuht4nrLlr Lfu huu 4000 I 4,0

37311510 )bbqu LIU huur 3000 1 3,0
373fl540 !uunrutrhp L.fu hu.rr,n 3600 I 3,6

II brunru;nrp;nrhhhp
5026,0

6531110C \LLhpqfur Lfu \,1,n 51,4 t9455 1000,0

6521110C $urq uu Iu'J 144 20833 3000,0
6511110C Snrp tlu iul.I 20c 965 193,0

90511100 urlp Ltu ullfru 600c 12 72,0

90921300 '\hnulnfrqugfru Lr-u urlf u 500 12 60,0
64211110 Qru qfr brunu.lnrp; nrhLLp L.lu r.urlfu 14400 12 r73,0

66512200 Unn4gruqurh. urqurhn{uqp. t-tu +prurJ 200000 I 200,0

76130000 9-ruq ru uru p hulfulltu pqfr u q. L.lu 4purrI 125000 I 725,0

7913r30C h1 umnpuqpnrp;ruh uuluu. LIU 4ptxtl 3000 I 3,0

6017000c Sputruqn pu;ftr Lifr2ng {urphurlu1nr LJ"U 4prx rJ 165000 I 165,C

9215130C Utupphpf rluphu\u1nrp.; nrtr L.lu +prud 35000 t
I 35


